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L. All the questions are compulsory.

2. The question paper consists of 30 questions drvided imo four sectiom- £ T gl T
3. Section - 4 comprises of 0 questions of ] mari: each. Seciior— 3 comprises 07 puestine or S mret

each. Section — C comprises of 10 guestions gf3 moris each and Secnon-— I comrmere o 55 oy s -
of 4 marks each,

4. There iy no overall choive. However internal choice ha: been proviges .2 puestiow: o tree ~mimms-

each and 3 questions of 4 mark each. You have to attemp: orrs onz of thz giremnmme s oG s

. questions.

Section —A(Each gusstion carres T mara
Q.1.  Draw front view of the following solid shaps=-
Az

T

5

Front
Q.2.  What will be the unit digit of the sguares of the nommne- 750
Q.3.  Solve the following equation : 2x+3=3
Q4. Identify the type of proportion: The number of worker: on 2 fuband fhe tmetesmtes e
‘).5. Convert the ratio 2:3 into percentage
Q.6.  The diagonals of a rhombus are 8 cm znd 10cm. T Tmmee
Section —B(Each guestion carmis: 2 marss

Q.7. Name the property under multiplication us=d ineach o= Tolimawine
nN-13 -2 -2 -13..,-195 2%
X=X = (i) = y—=1
@ = 7 27 _u)29 y—:e »
Q.8. Add: a-b+ab,b—c+bc,c—o+ar
0.9. The following graph shows the tempe=rature of 2 pesien: iz hnsrite] Tenrmasd et

(a) What was the patient’s temperanme 2t 1 o

[
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(b) When was the patient’s temperature 38.5° C?
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Time -

Q.10. Find the square root of 7744
Q.11. Find the value of. (37+31% x .3_5
'Q.12. Find the common factors of the glven terms. 14 rq, 28p q
Section —C (Each question carrles 3 marks)
'Q.13.  Find m so that (-3)"*! x (=3)"= (-3)’ |
Q.14. Draw a map of your school compound using proper scale and symbols for various features like

playground main building, garden etc.

: " OR
~ Using Euler’s formula find the unknown L : B 0
Faces 1?7 5 120
Vertices f 6 Pl 12
Edges co 125 9 ?

Q.15. 'Using identities, evaluate.: 297 x 303 .
Q.16. Flnd the area of a rhombus whose side is 6 cm and whose altltude is 4 cm.If one of 1ts diagonals is 8
cm long, find the length of the other diagonal.
: , OR - Wy
The area of a trapezium is 34 cm 2 and the length of one of the parallel sides 1le c¢m and its height is

4 cm. Find the length of the other parallel side.
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Q.17.  Factorise : p2 +6p +8

- QI8 If31z5 is a multiple of 3, where z is & digit, what might be the values of 27

OR ; .
If 21y is a multiple of 9, where y is digit, what is the value 6f y?

Q.19.  Find CIon Rs 12600 for 2 years at 10% per annum compounded annually

Q.20.  Rashmi has a road map with a scale of 1 cm representing 18 km. She drives on aroad for 72 km,
What would be her distance covered in the map?

Q21.  The weekly wages (in Rs) of 30 workers in a factory are. ,
830, 835, 890, 810, 835, 836, 869, 845, 898, 890, 820, 860, 832, 833, 855, 845,804, 808, 812, 840,
885, 835, 835, 836, 878,840, 868, 890, 806, 840

’ ~ Using tally marks make a frequency table with intervals as 806—810, 810-820 andso on and Drawa
bar graph to illustrate it, . ‘

Q22.  Three consecutive integers add up to 51.What are these integers.

Section —D(Each question cgrriés 4 marks)

Q23. A 'roa'd roller takes 750 complete revolutions to move once over to level a road. Find the area of the
road if the diameter of a road roller is 84 cm and length is 1 m. |
- - OR :
A closed cylindrical tank of radius 7m and height 3 m is made from a sheet of metal. How much
sheet of metal is required? , v
Q24. . Find the cube root of each of the followmg numbers by pnme factonsatlon method.

: ) '512 . (I 27000 ,
%.25. Draw the graphs for the following tables of values, with suitable scales on the axes.Cost of apples

Number of apples 11 2 3 4

Cost (in Rs) 5 10 15 20

Q26. If a box of sweets is divided amdng 24 children, they will get 5 sweets each. Howmany would each

get, if the number of the children is reduced by 4?
| ~ OR
A farmer has enough food to feed 20 ammals in hlS cattle for 6 days. How long would the food last if

there were 10 more ammals in his cattle?

Q27 " Draw a square of side 4.5 cm also write the steps of construction .
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Q.28.
Q.29.

Q.30.

Show that.: (a~8) (a+b)+(b—c) (b+ )+ (c—a) (c +@) =0

(D Express the number appearing in the following statements in standard form Charge of an

electron is 0.000 000,000,000,000,000,16 coulomb.
(I) Express the following numbers in usual form 3.61492 x 10°
Factorise the expressions and divide them as directed. :

96abe(3a - 12) (5b—30) +144(a—4) (b - 6)
- OR

Factorise : x*—(y +2)*
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